F6E 777HIHY F vy rR—22025 HERFR

3] LURES (HI—FFES) =¥ LURES (H—FFES)

BE+ty 28 o 0 o0 2| 2|6/ 4]->2
BEiAty M Bty 29 o 0 0 o0 9 6 0|0
BA+ty k3 Bty 31 o 0 o0 2|2 1] 2]1
Bty 0o 0 0 2 5|6 1] 8 BHAtEy k32 o 0 0 2 5 | 7| 4]/ 8
BA+ty k5 0 0 0 2 5|9 1|6 BHA+y +33 o 0 0 2 5|2 5|71
BHMAty k6 0 0 0 2 5|7 6]0 BEHAtEy k34 o 0 0 o0 9 6 0|0
BEHAty k7 0 0 0 2|5 | 3| 6]|s5 BHA+ty k35 0o 0 0 2 2|6/| 4] 4
BiEMAtEy 8 0 0 0 0|3 3|50 Bty F36 o 0 0 2 5|3 01
Bim+ty b9 0 0 0 2 5|9 1|6 BHAtEy 37 o 0 o0 2|3 1| 4|7
Bty 10 0o 0 o0 2| 2|1]2]1 Bty F38 o 0 0 2 5|8 3|71
BHAty M1 0o 0 0 1 4|1 6] 8 Bty k39 o 0 0 2 3|8 3]s
Bty F12 0 0 0 2|6 2|5/ a4 Bty 40 o 0 0 2 4|2 61
BEHAtEy F13 o 0 0 2.6 0| 7]|1
BEAtEy F14 0 0 0 2 5|5|5]38 BHRAENE) £y M 0 0 0 2 |53 4 1
SHmE+ty 15 0 0 0 2 5|5 6| 8
EAtE Y 16 0 0 0 2 5| 7/|86]|o0 $a=7HAtv M 0 0 0 2 |5 7 3 7
BEHmEtEy F17 0 0 0 2 5|6 2|0
Bty k18 0 0 0 2 5|5 2|0 TRty k1 o 0 0 2 5|1 6] 8
BHmEtEy F19 0o 0 0 2|5 0| 2]09 TRty b2 o 0 0 2 5|5 3|8
BHA+y k20 0o 0 0 1|4 8| 5]2 WAty b3 o 0 0 2 5|5 6| 8
BEHELy F21 0 0 0 2 5|6 2|0 LAty b o 0 0 1 1|9 4|69
BAtEy F22 o 0o o0 o |0 8| 3]|1 LA+t y b5 o 0 0 2 5|6 7] 8
BEHELy F23 0 0 0 2 5|9 1|6 LAty 6 o 0 0 2 3|4 41
BA+ty k24 0o 0 0 2 5|6 1| 8 TRty b7 o 0 0 2 3|4 0]|09
EWELy 25 0o 0 0 2 4|1 9] 8 LAty 8 o 0 0 2 5|6 7]| 8
BA+ v k26 0o 0 0 2 5|7 60 ZHERty 9 o 0 0 2 3|5 0] 2
BHEAtEy h27 0o 0 0 2|7 5| 5]|s+5

XE|FMADBIEIREN—FEETNEL /S SV, X5 22X HM : 5A24R(2)~6A22H(A) ¥ T



